[ TP-CA209-925

Adaption Kit for TP-CA 2000
Knife Drive Wobble Box
Applicable to John Deere
Maximizer 9500 {925 Cutting
Platforms)

WWW. TECNOLOGIAPEREZ.COM.AR




ADAPTATION KIT COMPONENTS

TP-CA209/925




/wscnfcu oG/Aa

lr2EREZ

Adaptation Kit Components for Assembl

Picture

Ref. Code Description Quantity

12X050 G [1/2 X 2 G5 SCREWY

12 AUT 1/2 LOCK NUT

TP-CAB50 [KNIFE DRIVE WOBBLE BOX BASE

TP-CA137 |RESIN RING

TP-CA313  |KNIFEHEAD

08 AUT  [5/16 LOCK NUT

M6 PL SMNB FLAT WASHER

08x050 G |5/16 X 2 USS G5 SCREW

125966 A1 |HUB

09X025 G |3/8 X 1 USS G5 SCREW

09 AUT 38 LOCK NUT

125959 A1TP [PULLEY drive, 500 rpm, 270 mm od

TP-CAB51 |SPECIAL SCREWW M16 X 2

C 132 BELT

12 AUT 172 LOCK NUT

12070 G |1/2 X 2 3/4 SCREWY

TP-CA/09 |PLATE

TP-CA409 |TENSIONER BASE WITH BUSHING

e Bl G [0 1 [ RSO J) SNy PUNCNG DUCN D SN (AN USENG BENENS DENENS PENENY DUNEN DICN BENEN B S B

LN PSS RSN DR DENL UL NN DENENN DEEEWE DENENE RN
Olw|~o|o|h|wr | |o|Lee [~ @O [k —

16 Th METRIC NUT 16 X 2

NOTE: All other screws and washers are the same that are
already installed in the original base.




TP-CA409
PROVIDED IN THE KIT

a@f\

TP-CA 209 ({925 CUTTING
PLATFORMS) ADAPTATION KITS
ASSEMBLY INSTRUCTIONS

@:’

NOTE: REMOVE THIS PIECE AS
IT WILL NOT BE NEEDED WITH
THIS ADAPTATION KIT

TP-CA651
PROVIDED IN THE KIT




/’E CNOLOG/A

ir2EREZ

REFORMS TO MAKE ON THE PLATFORM

Make an “L” type cut 200mm long and 50mm deep in the outer side
face of the platform in order to avoid friction between the belt C-132
provided in the TP-CA209 kit and the platform.

You will also have to weld the plate provided in the kit (TP-CA 709} in
order to fit the spring that holds the Wobble Box (weld in the distance
suggested in the drawing below)

The Hub and Pulley provided in the kit should replace the original Hub
and Pulley in order to supply to the Wobble Box the correct R.P.M for
which it was manufactured and in order to optimize its use.

-, Platform Quter
7 ' side
|Cut width: 50mm | Py 5of

o 2

Cut length: 200mm

Weld at 70mm
distance




